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* Find minimum number of straight lines 1n figure?

® SThid H ©TEft TSN shl =IAdTH HEAT J1d hITSIT?

A. 11
B. 13
C.15
D. 19



®* Which number is in opposite plane of 3?

* i © H&IT 3 o fqulia a1 O 29

A. 2
B. 4
C. 1
D. None



®* Which number is in opposite plane of 3?

* i © H&IT 3 o fqulia a1 O 29

A. 1
B.4
C.6
D.5



®* Which number 1s 1n opposite plane of 2?

* 9 €t TE&T 2 o faudia dor 1 27

A. 1
B.4
C.6
D.2
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* If number 2 1s in bottom, then which number 1s on top?

o gfd 3ieh 2 I § B, a1 Y Ux SH9-97 37k 27

A.5
B.3
C.1
D.6
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* Four positions of dice are given below. Which letter will be opposite to D ?

o UTHT <hT =R ferfaart = < 18 81 D o fausia i 91 3781 gI?
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3. D

4. A
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* Four positions of dice are given below. Which letter will be opposite to 1 ?

o UTHT <hT IR Rurfaat = S s 81 1 o6 o i 91 37er g

Wt

2.3
3.2
4.5
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* Two positions of dice are shown then find out what will happen on the opposite
side of 3?

o graT <hl o1 Refert fears w2 @ a1 31a shifste i 3 o faadia gdg 9w = g




* Two positions of the dice are shown then find out what will happen on the
surface opposite to *?

o graT <hl o1 Refert fears w2 @ a1 31a shifsre shr * o faadia gdg 9w = g

l. @
2. %
3. %
4. Cannot decide




* Two positions of dice are shown from A to F then find what will be on the
opposite side of B?

* U1 <l gl Ferfcal A € F ok 92115 718 & ol S77d shitoiq foh B o Tl fawmm o =/

y: W -
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* Four positions of dice are given below. What is the missing number.

* UTH1 shi =R eferat A= &1 715 21 <6 Hedn =

6 > I 5

4 |2 4 5 6 |3 3 ? Al
B.3
C.2

D.CND
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* Three positions of dice are given below. What 1s the missing number.

* UTET 3t i Teerforat ==t gt T8 €| T8 Eedn . B

A.2
B.3
C.4
D.5
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* Three positions of dice are given below. What 1s the missing number.

* UTET 3t i Teerforat ==t gt T8 €| T8 Eedn . B

Wt

1 3 4

6 |3 5 |4 ) ? ALl
B.3
C.6

D.5
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* Three positions of dice are given below. What 1s the missing number.

* UTET 3t i Teerforat ==t gt T8 €| T8 Eedn . B

Wt

3 4 ?
A3
6 I 2 6 1 S B.2
C.6

D.4



* In each of the following questions, a cube 1s formed when the figure given on
the left hand side 1s closed. Choose the option made up of options (1), (2), (3)
and (4) from the picture?

o Tfciiad 1 @ Tcder T | 914 8191 <A1 37X foU 77U {1 ol sig ohid UX Ueh O o]
Bl fore (1), (2), (3) 3R (4) T O 7 Torameq =l =47

)

W'y 4




* In each of the following questions, a cube 1s formed when the figure given on the left hand

side 1s closed. Choose the option made up of options (1), (2), (3) and (4) from the picture?

o g ¥ U Tcdeh 7 § 974 BT shi AR U 71U fa= skt sie st 9T Ueh & 4]
2 faehed (1), (2), (3) 3R (4) Fot & o Terenea &1 T2

F E F B

B

A | D| C
E
F
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* In each of the following questions, a cube is formed when the figure given on the left hand

side 1s closed. Choose the option made up of options (1), (2), (3) and (4) from the picture?

o Tafcrligd § O Ucdsh 9 | o4 g1 sht 31 fou U ot ohl sig it 9T ek © S
2 faehed (1), (2), (3) 3R (4) Fot & o Terenea &1 T2

W 4




